FPM2ed, Chapter 8: Project Management Process (FPM2ed p.110)
1. Management Process

2. Body of Knowledge Mapping

3. Definition of a Process
4. Eastonian Process

5. Project Management Process

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

8.1: Which one of the following attributes relates to a Project Management Process? (FPM2ed p.110)
a. A set of interrelated actions and activities that are performed to achieve a pre-specified set of products, results or services.
b. A process of meetings.

c. A process of reports.
d. A process of quality audits.

8.1 Answer: A is correct. This is the body of knowledge definition. B, C and D are incorrect uses of the term. 

8.2: A Process is a term widely used to explain how to make a product. Which two of the following would generally be considered a Process? (FPM2ed p.112)
a. The brewing of hops to make beer.
b. Drinking beer is a social process.

c. The refining of crude oil to make diesel and engine oil.
d. Driving is a travel process.

8.2 Answer: A and C are correct where a raw material is converted into a useable product. B and D are incorrect uses of the term.
8.3: Which three of the following relate to the Eastonian process? (FPM2ed p.113)
a. A process developed by a professor in Estonia.

b. Input / process / output.

c. Named after David Easton.

d. The input-process-output arrangement is widely used by the body of knowledge to explain many of the techniques and methods within each knowledge area.

8.3 Answer: B, C and D are correct. B and D are correct as many of the special project management techniques can be presented as (input documents) – process – (output documents). C is correct as the Eastonian process is named after a person, David Easton. A is incorrect.
8.4: Which two of the following relate to how a project manager would use the Eastonian process to calculate the Critical Path? (FPM2ed p.113)
a. The critical path is made up of all the activities required to complete the project.

b. The activity float is an input into identifying the critical path.

c. An activity is on the critical path when the float is zero.

d. Activities with a target start date are always on the critical path.

8.4 Answer: B and C are correct. There are a number of steps to determine the critical path, which include the two mentioned here; calculate the activity float and highlight the activities with zero float. A and D are incorrect.
8.5: As project manager one of your key responsibilities is to produce the Project Plan. Which three of the following processes would you use? (FPM2ed p.114)
a. Integrate all the individual plans.

b. Use a process of trade-offs and compromises.

c. Develop a baseline plan to plan, monitor and control the project. 

d. Develop a business plan to plan, monitor and control the project. 
8.5 Answer: A, B and C are correct. The project plan is an integration of all the individual plans to form one unified plan for the project. When a number of individual plans have conflicting requirements, trade-offs and compromises, this is one of the methods used to reach an optimum arrangement. D is incorrect.
8.6: Which three of the following relate to the Project Management Process? (FPM2ed p.114)

a. The project management process interlinks the initiating processes, planning processes, execution processes, monitoring and controlling processes, and closing processes.
b. The project management process is best used on projects that are exactly the same. 

c. The project management process is a logical grouping of project management inputs, tools and techniques, and outputs.
d. The monitoring and controlling process tracks the project’s progress by regularly monitoring and measuring progress and identifying any variances from the project plan. This means that corrective action can be taken and ensures that the project objectives are met.
8.6 Answer: A, C and D are correct. These three answers are extracts from the PMBOK’s definition. B is incorrect as projects, by definition, are unique.

8.7: Which two of the following relate to the Project Initiation Process? (FPM2ed p.114)
a. The initiation process is a company ritual of admitting someone into the project team.

b. The project sponsor starts the initiation process by outlining the requirements in a business case and a project charter, which gives the project manager the authority to start the project and use company resources.
c. The initiation process makes the go/no-go decision to start the project or phase.

d. When the project is complete, the initiation process terminates the project.

8.7 Answer: B and C are correct. The initiation process performs all the activities to start a phase or project. A and D are incorrect because the initiation process is not a ritual or the process that ends a project.

8.8: Which two of the following relate to the Project Planning Process? (FPM2ed p.115)

a. The planning process develops a plan for advertising the project. 
b. The planning process develops a plan for marketing the project. 

c. The planning process develops a suitable build-method for the facilities available.
d. The planning process develops the execution strategy to make the best use of the available resources.
8.8 Answer:  C and D are correct. The planning process outlines how to make the project’s main deliverables. The build-method and the execution strategy are two of the main components of the project plan. A and B are incorrect because the project plan focuses on the project and not other management activities such as advertising and marketing.

8.9: Which three of the following relate to the Project Execution Process? (FPM2ed p.115)
a. A sacrificial offering at the beginning of a project to help address the team members’ superstitions.

b. The execution process makes the project’s main deliverable as per the project plan.
c. The execution process makes the project’s main deliverable as per the build-method and execution strategy.
d. The go/no-go decision at the start of the execution process confirms the cost-to-complete does not exceed the benefits of finishing the project.

8.9 Answer: B, C and D are correct. The build-method and the execution strategy are two of the main components of the project plan, and the go/no-go decision confirms the project is likely to realize benefits for the company. A is incorrect.
8.10: Which three of the following relate to the Project Closing Process? (FPM2ed p.115)
a. It is the site manager’s responsibility to close the project every day. This process ensures that the site is safe.

b. The closing process commissions the project by testing its performance in the agreed manner to confirm it has reached the design requirements.
c. It is the project manager’s responsibility to compile a project closeout report as part of the closing process.

d. It is the project manager’s responsibility to hand over the project to the client as part of the closing process.

8.10 Answer: B, C and D are correct. These answers correctly outline a number of the closing process’s functions. A is incorrect as closing the site every night does not relate to the project closing process.

